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dy dz_‘r’ :
=& .
V=g . then the value of ai+of + o +.. +0™F =
[ d}, dz}, \
IE-'-—T

ISR VAVSBRAY Y=e e a3og), e 0t B0k S6KS B 9003,

RN gt ot . g =

Options :
221}15 i,
1. %
2024
.l'}
w2 +1
~2024
3.¢¥
~2024 1
4, % < N
Physics
Section Id : 5500535
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Is Section Default? : null

Question Number : 81 Question Id : 550053241 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following, the unit of permeability 1s NOT represented by

308 &S 26)00DE $ PAFET) ArosS

Options :

~» henry/metre

1

weber/ampere
ohin-second/metre

It-second/metre’
4. volt-second/metre
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A truck moving with a constant velocity 12 ms™ crosses a car moving from rest with
i n 2 L f ‘
uniform acceleration 2 ms™. The distance the car has to travel from the starting point

to cross the truck again is
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50 m
60 m
144 m

120 m
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Time:0
If ?z(—ﬁ—l@j)N and f=(—5{—33:)111, then (Exf) is
F=(4i-10j)N 208030 r= (-5i-3j)m, ®ad (rxF)

Options :

(—20{—5 Ej)Nm

62k Nm

IOJE Nm

38 Nm



Question Number : 84 Question Id : 550053244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two forces whose magnitudes are in the ratio 5.3 are acting at a point at an angle 60°
simultaneously. If the resultant of the two forces 1s 35 N, then the magnitudes of two
forces respectively are
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Time:0
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A block of mass 5 kg moving on a rough surface with a velocity of 4 ms™ is stopped
by the friction in 2 seconds. Then the coefficient of friction between the contact
surfaces 1s

(Acceleration due to gravity =10 ms?)
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Time:0
The following 1s not the method of reducing friction
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using ball bearings
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applying grease
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2. ®

applying paint
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forming a thin air cushion
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A body of mass 2 kg is moving with a constant acceleration of | 21+3j-k ‘ ms™. If
/

\

m then the work done is
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the displacement made by the body i

2kg 69 o a8 S0 t 2is3i-k

; /

s~ 6 3(eod SO God. & S

|/ Py

3 j+ 2k ] 1 ot 3068 u6Ad &

Options :

223

2.v 23



o x 123

107
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Time: 0

In the case of non-conservative forces, the following statement is correct.

@3@56&5 2erO%) Doe0dow), S08 DHWRHN VBADHIE.
Options :

The work done by non-conservative force in a closed path is zero.

8 0D HPosS” BB W00 BAXD D BT0.

The work done by non-conservative forces does not depend on the path.
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The work done by non-conservative forces depend on the path.
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There is no energy loss in case of non-conservative forces.
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Question Number : 89 Question Id : 550053249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two particles of masses 5 g and 3 g are separated by a distance of 40 cm. The centre
of mass of the system of these two particles

5 g S08ako 3 g @adforaven e Soth Seren 40 ¢ Erdod Ht Bobrd &) . &
Gocd S0 H(SR Awg) BA[o"3 Sogio
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Options :
lies at a distance of 15 cm from 5 g particle

5 g g090 A00d 15 cm G60es” &okodd

lies at a distance of 25 cm from 5 g particle

5 g S0 A00d 25 cm GorGoes” oo

lies at a distance of 10 cm from 3 g particle

5, % 3 g 960 dooct 10 cm Brgoes” oo

lies at the mid point of the line joining the two particles
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Time: 0



The angular speed of a rigid body rotating about a fixed axis 1s (8-2t) rad 5! The
angle through which the body rotates before it comes to rest is

8 R 6o D oo Batchd) w dit 590 Sesah $& (8-20) rad 57
D0 23S SHDY 988 & S0 oo B3 Stao
Options :
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Time:0

2
An object of mass 3 kg is executing simple harmonic motion with an amplitude —m .
m

If the kinetic energy of the object when it crosses the mean position is 6 J. the time
period of oscillation of the object is

2
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Question Number : 92 Question Id : 550053252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

As shown m the figure, a block of weight 20 N 1s connected to the top of a smooth

inclined plane by massless spring of constant 87° Nm™. If the block is pulled
slightly from its mean position and released, the period of oscillations 1s

(Acceleration due to gravity = 10 ms™)
tood” rdxd o 20 N 6o o a8 B 28 R T Svo PErTS
Dhossed 87 Nm'™ 207050 ff &8 Aofl 9% Seodwded. B & Srefs
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Question Number : 93 Question Id : 550053253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The orbital velocity of a body near the surface of a planet “A’ is equal to escape
velocity of a body from the planet ‘B’. If the masses of planets A and B are same, the
ratio of their radii 1

(firion "A” 8erdS ST 2,8 SR dws), SE Mo, (firedw B dooct
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Question Number : 94 Question Id : 550053254 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A spherical ball of volume 2000 o’ is subjected to a hvdraulic pressure of 15 atm. If

the change in volume is 5x10™ cm’, the bulk modulus of the material of the
spherical ball is

(1atm=10" Nm")

2000 e’ 200870 (o 28 Hvsd wodp 15 atm rErdSE HEdo $DADE
2300Argas" 5x107 cm’ Srthyy SN, w00 & Fgw GB0g) SAHS

eagsn
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5%x10" Nm™

15x10" Nm™



Question Number : 95 Question Id : 550053255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The gauge pressure at a depth of 50 m in a sea 18

(Density of sea water is 1025 kg m™~ and g= 10 ms™)

w8 Ddwgods” 50 m &' HG [E Hedo

(Raogio Ot aog), Frogd 1025 kg m” &o8akn g= 10 ms™)
Options :

1025 Pa

1. %

N

12500 Pa

5 % 20000 Pa

4 = 15000 Pa
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Time: 0

The emissivity of a perfect black body is increased to 16 times by increasing its
temperature. If the nitial temperature is T, then final temperature of that black body
Is

w8 Sy S0 Tt Docdtto Sv &6 16 880 wodd. o &9 et T
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The temperature of the sink of a Carnot’s engine is 300 K and the efficiency of the
engine 1s 0.25. If the temperature of the source of the engine is increased by 100 K,
the efficiency of the engine increases by

8 afogo Gwg) 3dersabo exld 300 K Sobakw abogo g 0.25. avogo
Qg &sPsaho e 100K 2o, abogo 5" e

Options :

.« 0.50

0.40
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A monatomic gas of volume “V" and pressure ‘P” expands isothermally to a volume
*27V" and then compressed adiabatically to a volume V. The final pressure of the
gas is

V" udiBareo Sofaky ‘P’ ddido o w8 déasarad Tain. v altie
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Time:0



The specific heat capacity of a monatomic gas at constant volume is X7 of its specific

heat capacity at constant pressure. Then x =
28 D8 DEAPEVS TV oBg), ?ros 203 DOm0 96 (v :39@:% avmgéc- o
206 90 36 o DT b $ 3 7 wowd x=
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Question Number : 100 Question Id : 550053260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of rotational degrees of freedom of a monatomic molecule 1s
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Options :

1.“*’32

2.531



Question Number : 101 Question Id : 550053261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; o o L .
A string of length ‘L’ 1s stretched by 5 and the speed of transverse waves along it

; ; o L .
is “v". The speed of wave when it is stretched by EWIH be

(assume that Hooke's law is applicable)
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The magnifying power of a telescope with tube length 60 cm 1s 5. Then the focal
length of its eye piece 1s

60 cm &0 oY ¢is) SBON 60D i), BB F%ogo 5. wand e

5050 03.13527 :5°e,1°50e:§<:50
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20 cm

40 cm

30 cm

10 cm
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Time:0



In a Young's double slit experiment, if the wavelength of light is increased by 50%
and the distance between the slits 1s doubled then the percentage change in fringe
width is

aboh oty B0 HTrriod, 5708 BoBI D) 50% Dod, DS iy dro)
380z B e’ 53y Ard Tdo
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Time:0

The net electric flux due to a uniform electric field of 3x10°1 NC™" through a cube
of side 20 cm oriented such that 1ts faces are parallel to the coordinate planes is

20 om o o 8 200 IX10°TNC™ &34 fo 2468 Dekog Eo8” 2
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A block of mass ‘m” and charge ‘q’ is connected to a point ‘0" with an inextensible
string. This system is on a horizontal table. An electric field (E) is applied
perpendicular to the string and in the plane of the horizontal table. The tension in the
string when it becomes parallel to the electric field is
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two capacttors of capacity 4 |Fand 6|IF are connected in series to a 500 V battery.
The potential difference across 4 |F capacitor 18

St 4 IIF, 6 IF Ao Goch SFOG 86" 500 V ergead § sDOTe. 4 U
30k ot TEIDES der
Options :

. 200V

300 V
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In the given circuit, if the current flowing through 5 resistor is 0.5 A then the
value of E is

G0 doaked’ 5Q Lo ore HBarod Db 0.5 A wowd E Jens
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The drift velocity of electrons in a conducting wire connected to a cell is Vy. If the
length of the wire is doubled and area of cross-section is halved then the drift
velocity of electrons becomes

8 Q00D $0% Tire S dupdvw ¢ i Vi & P &
Tetapo 8oz B SoBoty S\ FTOEN DN S JoFHL ¢
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Time:0

The relation between permuttivity of free space, the permeability of free space and
speed of light 1s
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Time:0
The magnetic force q [v x B] is
@03, 08 oo q [V X B]
Options :

parallel to both v and B

V 208030 B 9% Sodotds HiArodSorr cotod

perpendicular to v

V £) 080T &otodd



perpendicular to both v and B

V 208030 B 2 ol oS er0e0m cotuod
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Time:0

One of the following substances having the tendency to move from stronger region
to the weaker region of the magnetic field 1s

& S0 DETOS eabiF) 08 Edo TS, wOM Fodo Aod BOPARD
Fomd3 37 B6r3d DA eold
Options :

paramagnetic

5"5“@0‘.’13.5‘?}0@@5@3

ferromagnetic
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ferrimagnetic
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Time: 0
The Lenz law 1s associated with
S0P Qo0 308 T°V3S DoWoBoDDE.
Options :
law of conservation of charge.

e30% ﬁ}’rb‘)e:’a& QoA00.

law of conservation of mass.

GBad] DB AohHo.

law of conservation of angular momentum.

Se30 G55 DS DB Dabado.

law of conservation of energy.
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Time:0

An inductor and a resistor are connected in series to an ac source. If the power
factor of the circuit 1s 0.5, the ratio of the resistance of the resistor and the reactance

of the mductor 18

8 DOEB0 2B0%) w8 ABELAN w8 a0 235703 336" LA, Hvabo
ahog), av:»% 5680 0.5 wowd Besgiw dwe) AWerdS Sbakw Hdsdw
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The device used to detect infrared radiations 1s

DT°EE DSSeTOR) (1808 DAL
Options :

tachometer
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bolometer
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Time:0

The de Broglie wavelength of the most energetic photoelectrons emitted from a
photosensitive metal of work function ¢, when light frequency v incidents on it is

L. Then v =

(h - Planck’s constant, m — mass of electron)
29 oo ¢ o 8 S Arg)Iries Hordo D v FIRYA[o o 508

DA/ errdody 162 182 33 o Terdew derdd o 860 1.
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The centripetal acceleration “a” of an electron in an orbit of hydrogen and the
principal quantum number ‘0’ of the orbit are related by

TEad w8 455D T ding) wd3or dGbno ‘@’ Dok 45§ A
QE 500 o)y ‘1’ 5B &) Doexotso
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The radius of the nucleus of an atom whose mass number 1s 125 18

28 DBATEDLY) QS‘JZSU"%‘ "fooa.aé 125 e900d) &3 AT Sods mﬁﬁg 0D
Options :
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The material used 1 the fabrication of imnfrared LED s 1s

Dordoes LED o ¢903r8es’ ord HTgo
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silicon
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germanium
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gallium arsenide phospide
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carbon dioxide
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Time:0

In a transistor, when the emitter current changes by 9.85 mA, the collector current
changes t0 9.5 mA. Then the base current 1s

ErOVR0 8' 68 DS 9.85 mA Sr8 2LBe3S” DS 9.5 mA 1 - 838,
e.et’.abm ZIngs) Dd:éé o?mﬁgj DD
Options :
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3 % 0.8mA
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Band width of an optical fiber is

T B0 CBE), DIC DE DeLewy
Options:

more than 100 GHz

100 GHz Z083 ;)532 35
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less than 1 MHz
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less than 1 GHz
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less than 100 kHz
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Which of the following electron arrangement does not obey Hund'’s rule?
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